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(3.1)

P, =1,cosé, +1, cos(f; +6,)

(3.2)
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P, =-1,0,sin(8,) - 1,(6, +6,)sin(6, +6,)

(3.3)

P, =1,6; cos(6,) +1,(6; +6,) cos(6, +6,)

(3.4)
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dsin(6) _ dsin(6) _d_¢9: dsin(6) P d cos(0) _ d cos(0) .d_HZ d cos(0) P

dt do  dt do ' dt do  dt do
dsin(6, +6,) _ dsin(6, +6,) d(6,+6,) _ cos(0,+ 0,) - (6, + 6,)
dt d(6, +0,) dt
dcos(éy +6,) dcos(f, +06,) d(6,+6,) _sin(6, +0,)- (6, + 6,)
dt d(6, +6,) dt
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y l, cos(6,) +1, cos(6, +6,)  1,c08(6,+6,) | |6, (3.5)
P=J0
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> WA, SellA =718 B4 3.1 B2)%F o83t P(xy)E At

P, =, cosd, +1, cos(d; + 6,) = 0.15x cos(30%) +0.12 x cos(30° + 60°) = 0.1299 (m) (A-1)
Py =hsing, +1,sin(6; +6,) =0.15xsin(30°) +0.12xsin(30° + 60°) = 0.1950 (m) (A-2)

M2 A R(xy) = Rxy) el tatel AR, AP 7} S7HEl Aol siFstez Py(xy) & a7l 93]
A WA, AP, AP E TE Fo7F glom, 4(38)S ol &AM It o] 7 5 girh o] W, Bad
ApsiHlel FHL 6, =30°, 6, =60° & ARgEtaL Bl WEe] TUF B A0=[2 3" & A&t
{—0.0131}{—0.1950 —0.12H0.0349} (A3)
0.0045 0.1299  0.00] | 0.0524
ol wj, 4 (A-3) AAE ulj, Al4r]e] E=o] webA ZhriQk(Radian) 5 =(Degree)E " &stAl T
SH=5 Fhrh A(A3)2 BhHeha ARl
HTHOE Py(xy)E T BAANS o]&ste] At
Py, = Py + AP, =0.1299 + (-0.0131) = 0.1168 (A-4)
P,, = Py, +AP, =0.1950+0.0045 = 0.1995 (A-5)
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P,, = 0.15xc0s(32°%) +0.12x cos(32° +63°) = 0.1167(m) (A-6)
P,, =0.15xsin(30%) +0.12 xsin(30° + 60°) = 0.1990 (m) (A-7)
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